
Lecture 12 - Oct. 22

Bridge Controller

Event Action vs. Before-After Predicate
Before- vs. After-States
Sequents: Syntax and Semantics



Announcements/Reminders

• ProgTest1 results to be released around next Monday.
• WrittenTest1 tomorrow during your enrolled lab session
• Lab4 released (ProgTest2 on November 6)
+ Try to complete Part 1 by Friday.
+ Follow the proof steps in Part 2 & collect questions.
+ Scheduled lab session on October 30.



Before-After Predicates of Event Actions

- Pre-State
- Post-State
- Sate Transition
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Transition of an Event bE ACCOUNT/
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Invariant I in pre-state :
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swap
  begin
    temp := x
    x := y
    y := temp
  end

Q. Are the following event actions suitable for a swap between x and y?

Exercise: Event Actions vs. Before-After Predicates
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Design of Events: Invariant Preservation
to be formulated as a

proof obligation
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Sequents: Syntax and Semantics
Syntax

Semantics

Q. What does it mean when H is empty/absent?
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PO/VC Rule of Invariant Preservation
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